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PART-C
PHYSICS
(Marks : 50)

1. Thevectors A and B aresuchthat|A + B|=|A — B then the angle between A and B is
|A + B|=|A - B|ecws A, B 30%0 3o Sexin
me D o (3) 45° (4) 180°
52 A lift of mass 1000 kg is moving with an acceleration of | m/s” in upward direction. The tension
developed in the string which is connected to the lift is
1000 kg. G508 e 85, 1 mis” Bsteisond’ Deoim DA Depiionpl. Bpte ers O ANS" DG4S 835
(1) 9800N v{f:f 10,800 N (3) 10,000N (4) 1,000N
53. Inarigid body, the distance between any two constituent particles
2.5 G SR E’ D Dot Sraiiooe Soliy SrOSD
() remains constant only when the body moves linearly
e 555 Do Sestiond® dgunet iRl PO oty
AZ) remains constant always
SRt P Hedw
(3) remains constant only when the bedy is in rest position
& S Do S Sy Srgds homr ol
{4) remains constant only when the body is in rotatory motion
&3 S e Soind’ ddpipts SrEls potur ol
54, Total lincar momentum of & system of particles remains always constant if
2. B3 5 clonsh, Doodion S (g i dgipeion ea éod!
{1} A conservative force is acting on a system
& S5 Dogt; ook SU00H Sk
(2) A non-conservative force is acting on a system
o B SN Dok SN0 Hoke
;} No resultan: foree is acting on the system
& S 0 Beiio W
{4) Variable force is acting on the system

e SpSigh 50 oo Andots thodh [PTO.
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55. According to Kepler's third law, the time period (T) of revolution of a planet and the semi-major axis
(R) of its orbit are related by

255 e Dotbiiniion @S0, .8 YRR 557 g0 Teike (T) Sobaihs e ein (R) o 5 donotiio
(1) TaR? (2) TaR? A3) Tar®? (4) TaR®®
56. [Kinetic energy of a particle executing Simple Harmonic Motion at its mean position is
SO o Seting” i e St Do St 36 At o N8
A Maximem  (2) Minimum (3) Zeso (4) Infinite
MRigos Sages =osg SRt

57. A particle executes a simple harmonic motion with time period (T). The time taken by the particle to
go directly from its mean position to half the amplitude is
SO PO BE Deliod i Srin ot Slearag svemios (T). & Sesin Dosndio dod 8053 S60SE"
s Groies Dk Sy Setin

T T T T
M 3 @ 3 ® 3 SO

58. In the case of damped motion, the forces acting upon the particle are
eRIG teoniiond” g Seatinn 2o SH vered

(1) Restonng force (2) Frictional force
m&:m Fogie Dot
(3) Extemal periodic force \/lf} Both restoring and frictional forces
aParg SR pose SRS Soboks Foft woes
59. The velocity of a transverse wave in a stretched string with tension T, having length L and mass (m) is
given by

L 2resh, m (5508 e o8 SE° 85 T ) oS0 U5 80ortias g, oo

TL T 1
OFE S O @ VT

60. A transverse wave is propagated in a string stretched along x-axis. The equation of the wave is given
by y = 0.006 cos [ (46: — 12x)]. The frequency of the wave in SI units is equal to
EhE S48 08 SOE BdoNte x-efin Dood BAPMLCD. & SNty Moty SdEtnie

3= "0.006 cos [x (461 - 122)]. 51 @aTered’ & S0 dhug), Sahisio
(1) 46 2) 14 (3) 23 (4) 100

Mote: The Information Provided here is only for Reference.It may wvary the Original.



Mote:

wwwW.entranceexams. io

Ps
15
61. The transportation of mass from the region of higher density to the region of lower density in a gas
gives rise to
¥ Troted® el Srod o robin Swed, soy ot o FrobEuis (S50 o8 Soib o8
Sidany
(1) Viscosity Aﬂif&l&iﬂn
:;gu e
(3) Thermal conductivity {4) All the above.
i Banoi
62. InaT-5 (temperature-entropy) diagram, the isothermal curves are
T-5 (&fum-Joes™) D Beoiiood” B30 &S S
(1) Straight line parallel to T-axis
ToangpDd FAPeBEOT dol J5¢0e
_AB) Straight line parallel to S-ais
S-wgrnd SSreaciinm &ol HOv G
(3) Straight line inclined at an angle
o8 Sl seon Hol W B
{#) Rectangular parabola
&g Biedip Sotealto
63. In a cyclic reversible process, the entropy of the system
Bt s Soelon EEeHET SEip @uog), oS
(1) Increases (2) Zero
ey e oy
(3) Decreases -./f;} Remains unchanged
B Sses
64. Wien's Displacement Law states that
55 7w glo¥ Dabiioo EENtEm
1
A ipat @ MmeT G Aoy @ e
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63. For a perfectly black body, the absorptivity is
8 &5, £ S ook, Faeed

ZOR @ 05 () Zeo (%) (4) Infinity (sS05a)

66. The particles obeying Maxwell-Boltzmann statistics are called
SrERE- Siogiol Srowrgios & $ob Srivet 530

(1) Electrons (2) Identical and indistinguishable
Jeg e S Soboity DEEGHED fnsneh
‘/(i] Identical and distinguishable (4) Photons

RS SaBatn LRSI Sntvels Farso

67. Fermions have spin value

PO RS
10 B 3 ) 1 (4) Oor
68. Colours of thin films result from
Seond drte’ dorbeo B Sor ki
(1) Dispersion of light \/ﬁ- Interference of light
Trod JTESmo Sud Sod SHE0nEs Soid
{3) Absorption of light (4) Scattering of light
Tod £t Sai Tod HSenin S0

69. In Fresnel’s biprism, coherent sources are obtained from an incoherent source using
(e Bgtensnd’, 5+ 550" edong Tob aiito Sood Sorg 0 slsTeo ifyne SN

1} Division of wavefront {2) Division of amplitude
Sorml Ddes Sevaies DO D

(3) Division of wavelength (4) Division of phase
SO g DL o D
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70, Resolving power of a diffraction prating increases with
D5 Fedoh cloos), Symestes Friiogiin OlNe DEAGS
A1) Increase of total number of lines on the grating
Tiedofl Bech daf Doz Tpe Homgis Dot Soil
(2) Decrease of total number of lines on the grating
(iedof Boch & Rosgiio Bpe Sopgo Bllotoe Sei
(3) Increase of grating element
fudof sureto Wrbe o

(4) Decrease of grating element
felof fureso Biotuts Se

71. In Fraunhoffer diffraction
ahSesb DngRsd®
{1) Source and screen will be at finite distance
o el S:00% BO S0 (rtos” Hodity
{2) Spherical wavefront is used
Fiost Scarmytinsis &SOriin
(3) Cylindrical wavefront is used
SPSEd Bomiiiuoiy GIEriin®
_A®) Plane wavefront is used
Hrote Blom e &3ErATD

T2 Whmunpclukndlighii:imidmtanagimshbatanmglaafpoluisaﬁnn(ﬁ,].ﬂ:mthcmgle
between the reflected ray and the refracted ray is
D8 Tod M Sooh (GSnfno (8,) Tu3 BESINYH, SoEER o Sebake S
mmqs;ﬁ‘m :
(1) 45° @ 30° (3) 60° oy o

[PT.0.
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T3, Abeam of circularly polarised light passes through a quarterwave plate, then the emergent light is
Sfich D8 S0 Hoerd, HgOF SO el KNG Sobihn Deosd 5ol

1) Plane pelarised (2) Circularly polarised
0¥ B0 D8 sob Spdo gl Tod
(3) Elliptically polarised (4) Partially polarised
&4 Sficn dE 5od S5 D5 5ol
T4. The wavelength of the He-Ne laser is
He-Ne S o, S8cipgn
(1) 441.6 um (2) 555.5mm \/(3/;. 632.8om (4) 6943 nm

75.  Ifvisthe frequency of excitation, then the retio of probabilities of spontanecus emission to stimulated
emission is proportional to
&85 sod FacpSino v ool Hijed agtin Hdaty 4es agores Sogrigte Uid A04
esind S SrEnd” shotuel

1
(1) v @ = (@) v v/[;] v

76. The magnitode of the electric field on the surface of a sphere of radins ' "having a uniform surface
charge density *c" 15 (€ 15 permuttivity of free space)
rgrgo, ‘o’ D588 45880 & oSt Ne Rvst Sy dlng, albBesay Dol £ S50 ol
Searesis 5y draiEnge Dopi0d)

g o o o
S e @ 34 @ 27 @ 2es
77. The negative potential pradient is
Degl 0500 anegitet 802 SErEss
(1) Electric field gradient (2) Potential energy
iy GE SI0B 208
3) Intensity of electric field (4) Electric current
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78. The electric field at a distance of 30 cm. from a point charge § x 107 C is
8 % 107 C Dot & el 30 cm. &rtied’ o Doty 3¢, DS EH Sus

v Y v L'l
(1) 80 — /{5 gx10° — () 4x10t— @) 24x107

79. The relation between electric displacement (D), electric ficld (E) and polarisation (P} is
DeiogS ABEER00eS (D), Deiogd Fitto (E) 90080 Dz oo (P) o 2ogs dowotiin

/ﬁ] D=g E+P () E=gD+P () P=ggE+D (4 gE=D+P
13 F
80. Thzdidmnmmnfmeaimisz.Thmm;muivimfﬁmm&imis[EP 8.8x10 ;]

F
L8 oSt clao, B pUrotis 2. e altriste 0,303 {En= 8.8 x Iﬂ‘”;}

F F

(1) 8E8x10r 2 [ o 128 11 e
F F

\/(5'} 176102 (4) 44100

i

81. Ifthe intensity of eleciric field is E and the electric polarisation is P then =

m@@;@aﬁmmmﬁm%:

(1) Dielectric constant A?) Electric susceptibility
B porotio Dol S2hH0S

(3) Permittivity (4) Electric displacement
EERER Bty A5G S06S

82. If a hollow spherical conductor is filled with a liquid, its capacitance changes from 4 uF to 12 pF.
Then the dielectric constant of liquid is
2.8 Soa g Aoso Tire Dy, 655008 Dol ol e 4 pF Hood 12 pF O Hrisd, sond o
i dlooth, 55 Boroiiin

M2 @) 4 (3) 8 S 3

[ET.0.
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83. The force of atiraction between the plates of a parallel plate capacitor heving charge Q" and area of
each plate ‘A’ is
Q" eilio, A SeE DR o BEroS Doo S0BD oS, Dot S06; eign noe
Q Q? Q?
) Zeofdmy) @) Y ®) Fega \/6} Seg A

84. The magnitude of electric ficld E between the two co-axial cylinders of a charged cylindrical capacitor
¥ b8 Bpdreoy B5heb ol Both Sirdan £es Sydre Sugy rotiod’ DS BB S50 S0arne
(1) Is the same throughout
aly oo 3¢ e Dol oo
{2} Is higher near the outer cylinder than near the inner cylinder
&30 Arde G0 Sy Seosd Srbo 840 .3
_/3) Inversely proportional to the distance of the point from the axis
sk ool Doiny Grodd DENFRTGes Hodsh
{4) Inversely proportional to the square of the distance from the axis
ugo Sood Doy drto dud). SR DESrdgcd’ Hotius.
85. 1If the distance between the plates of 2 capacitor is increased by 2 times and the area of each plate is
decreased by 4 times, then the capacity
2.5 ATl Setis £5.006" Sote 5ol 570 2 B Ted, Sedt Rremp 4 Dy BlolB o 500

{1} Incresses by & times (2} Increases by 4 times
8 Dz BEIDRY 4D DO
V/(::: Decreases by & times (4) Decreases by 4 times
8 ey B $oup g
86. The relation between magnetising force (H), magnetic moment per unit volume (M) and magnetic
flux density (B) is
eohd.06 58 86 (H), Sire uttsrned’ scbines gt (M), 2cidnos oo ocs
(B) & Sug; Sowmotio
pgH
(1) H=po (B + M) @) B="
) B=wE=M (4) M=o (H < B)
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87. The relative permeability (1) of 2 medium is 0,075, Its magnetic susceptibility is
5 CorRigo coof, Arhg 0% Bo8 (i) = 0.075. ol satidnob $R500d

(1) 0.925 \4} - 0925 (3) 1.075 {4) —1.075
88, Hysterisis is exhibited by
SRR EBEGENND
(1) Paramagnetic materials \A‘Z; Ferromagnetic materials
o e, Soes i ot ol Soge
(3) Dizmagnetic materials {4) All the above materials
. Gt ein,ob Sorges pspaty

89. According to Biot-Savart’s law, the magnetic field (3B) due to 2 small current camrying element 2t a
point which is at a distance ‘*' from the element is
xdirel-2Seg Jabions @500, 28 oS FIr womotin Je, EenoEa Hood 7 SrdSnd’ e

Dot 5 MhE wkimob (W6 (8B)
1 1
() sB=? ) B3 (3) B r @) B
90. Hall coefficient (Ry;) is given by
SRS HorsEsis (Rug)
WRe=— V’(Z{Rz-lﬁ—i (3) Ru=ne (4) Ru=~
81, In which case, the magnetic field is uniform?
D Socighind” eoldn,ob it DSBS Pk
(1) Outside a long solenoid (2) At the axis of a circular coil
e emond nolbiy SyEss Bty wio Jod
) Inside a long solenoid (4) Near a long straight wire
e 8ot Soe e S50 B as

[PT.0.
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92. ‘When the number of turns of a coil is doubled without any change in the length of the coil, its self

inductance becomes
o8 &t ok Sk Brtho, scdiid’ ok Sopgtc Teolp A%, ol Syaibo (pusH
{1) Doubled .,{‘Zl/anﬁmus
BeJosr el Bl ShEs
(3) Half (4) Three times
G50 D ST Doy ewiido

93. Oscillations of the coil of Ballistic Galvanometer are affected due to
Sl mregRnrSso 6% S oty s, Hlerreit Eerdian tabuisd

{1) Mutusl induction {2) Eddy currents
ey Boe g e
(3) Hysteresis vﬁ{ﬂelfinducﬁm
rbhanb Spebolbie
94, Magnetic field inside an infinitely long solenoid carrying current (1) is (where n =number of tums per
unit length})
1 D25 (Erive o edoditonuss NG o S8mrans &'5e eatin,of §fo Do (n = Girn FePHé'D
So o)
\/{ﬁ ponl (2) m?_ﬂ
(3) Zero [Romy) (4) Infinity (eiSoiiba)

05. The differential form of Faraday's law of electromagnetic induction is
o DS eabmob (e Dabiioo dluk), eers trbo

. -3B = _-8E
o — v o 4L !

AWE 5 @ VxB==2
(3) VxB=yigl ) ?xﬁ:]-l-—-—i?
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96. A series LCR circuit with the quality factor *() is impressed with an a.c. em.f V. A! resonance, the

voltage across C is
‘Q" tbmereo e £.8 Fed LCR Seckrld V See Jeoid DLmpt noih emiBomrd. sismry Hod"
0ol Dots S'de
v
mv @ 2ero A v @3
97. The bandwidth of a LCR series resonant circuit is
LCR. i#e? ssttomrds Soaho Gt Sel Bday,
L R R =
(M) g Jé} L (3 L (4) R
98. LCR paralle] resonant circuit is a
LOR 5Smotd exbimrd Socho o8
\/fﬁ Rejector circuit (2) Acceptor circuit
S8 6 Secho fwst Sectio
(3) Rectifier circuit (4) Regulator circuit
e, B Secbo DoiboghE Heaho
93,  Which of the following iz not Maxwell's equation?
od 78 srbad shustonn 5087
(1) V-D=p 2) ¥-B=0 (3) ﬁ'xﬁ+%= ‘i{ﬁxﬁzj

100. Fora plane electromagnetic wave propagating in 2 homogeneous isotropic dielectric medium, E and
H fields differ at phase by

8 Terdol, DAY 56y cirsted” Site Mtatined o SHbotnnas E mubats H
foo oo NG

{1y o0° (2) 180° ~/{3/; o (8) 270°

[PTO.
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CHEMISTRY
(Marks : 50)

101. Themmnstdammicmnﬁgw:&onuﬂdﬁz*imis
Mn?" scirS ey JogS Doyt ———— ™ &oib.

\/d}/ 38 4¢° (2) 3d* 4s'

(3) 3d° 4° (4) 3d° 4s* 4p°

102. The EAN of Ni in [Ni(CN)gJ* is
NI(CN)4]*~ Soc Ni St EAN

Ay 34 @ 3

(3) 36 {4) 54
103. The nature of the complex [Co(NH3)3Cl3] is
[Co(NH3)Cls] ot dloos), Seersain
{1) Positive charge (2} Negative charge
o = PELr o )
¢({} Neutral (4) Amphoteric
BT Egrosprisiion
104, The Densest element is
i3 Sroga SN Saretin
‘_/(ﬁ Osminm {2) Francium
es?aau::o Ergcio
(3) Cesium (4} Sodum
Sbome Fdobo

only for REeference.It may wvary the Original.
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105. According to Heisenberg's rule
Wﬁﬁmm
(1) No two electrons of the same energy eater into same orbit
R85 555 9 Dot Jogi ef 5 @Hes
ﬁﬁemﬁﬁmmﬂmofmﬂmmhfmmﬂmﬁynlﬁmn.
JogS dhof, e Soboin gy M w530 aysom o8B,
(3) The position and momentum of an electron can be found accurately at 2 time.
Sogs EEw S0k @y It o5 TO pihdorr SHE)IN,

(4) For every proton there is an antiproton
G0 Period L Dy St dots.
106. The value of Plenk’s constant is Erg. Sec™,
o8 hrosin dess ———— 5. 2geh
AD 6625 x 107 @ 6625 x 10 (3) 602 %10 (4 3.01 x 1027

107, Shape of XeFs molecule is .
XeFy s oo, afhd =

\_/(i-} Square planar (2) Linear {3) Pyramidal {4) Octahedral
SO Wotioin  Bdotsn AT sEsosio
108. The metallic character of group 14 elements
14 3 ¢ird Sorose Sargtss
{1} Has no significance (2) Does not change
Argzs B Sy S
(3) Decresses from top to bottom ﬁjhﬂmﬁmmpmbmm
109. Which of the following iz modesator?
doBaredst HA DBt
(1) Gold (2) Boron {3) Cadminm (4) Graphite
SO &S oo g

[ET.O.
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110. The most soluble salt in water is
Bt Rt S seieies

/(1) BeSOy (2) MgSO4 (3) CaSO4 (4) S1504

111. Orthoboric acid is
S50 etisin

(1) Dibasic acid  (2) Tetrabasic acid  (3) Tribasic acid A;Mombuicmid
ERE eonos DerBhE e SEE ey 2rTELE oo

112. Which of the following can be used to remove nitrogen from air?
POEYT el Sohotbinn Sobmeds BID aSAFAE?

(1) CaClz {2} Phosphorous \r{;'; Magnesium (4) BaS0y
CaClz Sy o) Toflatbe BaSOy
113. Tyndal effect can be observed in
dod Ferin ot eSSty
{1} Solution (2) Solvent {(3) Precipitate \/6]" Colloidal solution
g~y =) (=i sy odT ErEesis

114, The number of '@ electrons remained in Fe’ " ion is
Fe?' wairitod® DD &3 *d" Jogy Nowy ————
(1) 3 (Z) 4 (3) 5 Vﬁ;ﬁ
115. EDTA is used for the estimation of ions,
wgmmmmazm,
() Na*ad K© (2) CN"and Br  (3) Cu** andAg” (4) Ce’ and Mg™
Na© 48ato K©  ON-msBats B Cult Sobats Ag'  Ca? sobate Mg
116. Which of the following has the largest ionic radius?
dob Tl B0 0l eolrdy Tyingta dofslo?
/tﬁ i @ o @) Mn?* (4) Fe*

Mote: The Information Provided here is only for Reference.It may wary the Original.
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117. Methanol and Ethanol are miscible in water due to
S Dogres Mbcl afrdos Hdd shata.

(1) Covalent character Véﬂmgm.bandiug
Ssodireta Ryt el softin
(3) Oxygen bonding (4) Hydrophobic nature

118. Asthma patients use the following mixture for artificial respiration.
esiir Eheo By ey Dogiioiin

(1) O3 + Ne {2) O3 + He (3) 0 + Kr () O; + Xe
119. Which of the following compounds does not exhibit geometrical isomerism?
Eoireds’ D8 B Ty BE8pIDL?
(1) 2-pentene (2) Fumane acid
2-cels B8 eiotos
(3) 1-Chloro=1-propene \/’f:t] 1-Pentene
1-56-1-%%3 1-oedS

A
IF‘lflt‘:lﬂmr many structural isomers are possible for a compound with the molecular formula CsHy;CI?7
CsH) Ol s Sreer SDAS o iSoaiStonitth I doys Srthmres Sgisdoron?
(1) 2 )3 s @7

121, Which of the following stereoisomers have neither superimposable nor mimror images?
B0l Blibok gEses’ A0 sGe Boloalues 3 ergfiinss o0 WA soss?

(1} Enantiomers {2) Homomers
\/& Diastereomers {4) Mesocompounds
St B DodEslagies

[ETO.

Mote: The Information Provided here is only for Reference.It may wary the Original.



wwwW.entranceexams. io

28 .y

122. Which of the following compounds does not possess sp” hybridized carbon?
o8 Shuzres’ DA sp? Sosberin DobS TRy SO docto?
(1) Butadiene  (2) Propanamide  (3) Benzyl Cyanide ﬁnmuﬂe

ST st e BoRdpaks ahs P
125. The addition of HBr to propene gives
§55% HBr S0 $0huSeth suysa
(1) 1, 2 - dibromopropane {2) 1-Bromopropane
1, 2B i 1S am@Fhs
(3) 1, 3 - dibromopropane ‘/{;} 2-Bromopropane
1, 3o s 25" FLS

124. Which of the following is very less reaetive in a nucleophilic substitution reaction?
Zob Te36° DA BriarbiE 3ake 555 ub BmS Sogon DR dodnat

(1) Ethyl chloride vﬁ} Vinyl chloride
S £5 b e

{3) Isopropyl chloride {4) Allyl chioride
AAES ot wdd S5

125. The IUPAC name for (CH3);CHCHCHaCH,Cl is
{CH3)2CHCH;CHCH,Cl ooty TUPAC =5aas

(1) 2-Methyl-5-Chloropentane AB) 1-Chioro-4-Methylpentane
2-20gd-5-5 0 ol 1857423 F ol

{3) 1-Chleropentane (4) 1-Chloro-4-methylbutane
1-5'6 003 1-55-4-0:pfargls

126. Which of the following does not exhibit keto-enol tautomerism?
2ot i D8 & -pad LT R0 EEGEBM?

(1) Propanaldehyde (2) Acctone
s ehes"S

{3} Acetophenone \/E{*’:i Benzophenone
e LS Do

Mote: The Information Provided here is only for-Beference.It may wvary the Original.
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127. In Corey House reaction Vinyl chloride and Et;Culi form
S Stioth D9 £ bats EfyCuli ——— b Do,

{1) n-pentane (2) 1-pentene
n-Doils 1-20elS
/{3} |-Butene (4) n-Butane
1-eaTsed -7l

128. Which of the following is non benzenoid aromatic compound?
dotreds’ DA TS0csons Mo Sty

(1) Cyclopentadicne (2) Cyclopentadienyl cation

2 nourdotr S 28 hourdicardd selarrs
/3) Cyclopentadienyl anion (4) Cyclopentadieny! radical
S uowrtarpd airsaing PEvoarticaryd oded
129. Benzoic acid be obtained in reaction.

Bof'onk et ————— OOHed TroSSupt.

(1) Benzaldehyde + per acetic acid {2) Benzyl aleohol + KMnOy solution
Boergipet> + 1O el enin DoBd e fes + KMnOy groeiin

(3) Methyl Benzoate + NaOH next dil HCI \/én.q.uumm
226 Dofdiel + NaOH 88 Hee HCl - piddoio

130. In toluene the methyl group is orientation group
erBsTioss DB Searirnn BAgTEN0s Mo SSarEEas.
(1) meta {2} ortho
Duer S oy
(@) Para {4) Ortho ead para
>o wf mdoks o

[PT.O.
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131. Bromination of Phenol is dome with ____ reaction.
36 o Sl D8G5 wosasay
{1) Phenol + Brz / FeBry »/é}?hml*—&mnimwm
ipew + Bry / FeBry breo + @0ed mede
{3) Phenol + HBr {4) Phenol + NaOBr
Y7roo + HBr imres + NaOBr
132. Which of the following compounds does not participate in Cannczarro reaction?
2od Shupired 06 RECHGS IgRc?
(1) CgHsCHO  (2) HCHO (3) CgHsCHoCHO  (4) CCL3CHO
133. Aldehydes and ketones can be distinguished by test.
ey wha L5 365 oo oG0Sy,
(1) Molish test (2} Mulliken Barker test
SrOh, 30 S0828 eren b 565
/(3) Tollen's reagent (4) 2, & — DNP test
Sag, Tos 2, 4 - DNP 38¢
134, Which of the following is weak acid?
208 s’ D8 wolrs em?
m O @) O m U (O] U
N
|
H
135. The hydrolysis of sucrose is called :
HEr we HHEpSLN ———— wourh. ‘_//
{1) Saponification (2) Esterification (3) Hydration {4) Inversion of cane sugar
naFnEns JeiEns esfhstienn .0 28 odoD
136. Peptide bond in proteins is identified by test.
58" 1 wogd) oSS by B3,
A1) Biuret test  (2) Ninhydrine test  (3) Schinoda test  (4) Borsches test
ponsBef shg DSz 50y i sl £, 36
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137. The Boyle's law is an applicable process at constant
Eroood AR PO 35 =8 eRsgRat PifoD.
(1) Pressure (2) Volume v'é Temperature (4) All of them
St Sesnasrrten &3 2D
138. A real gas shows an ideal gas behaviour at
5 08 Demrahg L8 eotarals SHgse EeloNst.
(1) Low temperature and Low pressure
B TR SoBan B ety
{2) Low temperature and High pressure
Ben 3 G Bodathy IS Bessso
(3) High temperature and High pressure
S5 AR Bebobo IS HEEND
ﬁ}Highmpmelwﬁmm
Jn e So0ets B0 Sasse
139. The Joule Thomson expansion of an ideal gas is
28 056G, Tl dwg, Y oind s ————.
{1} An isothermal process (2) An isobaric process
28 SRy Sdab 2 Ssobes Edad
/0 An isoenthalpic process (4) None
£ 50 ol Blat b8 =
140. Heat capacity of an ideal gas depends on
e8 sty Tolloy o, g el B TS,
{1) Pressure (2) Volume Vé Temperature (4) Mass
Dessis SR SSTNS: a3 ESys
141, Gibb's free enerzy is defined as
Ay Sy #83 ™ D005,
SO G=H-Ts (@G=H+TS ()G=E+TS (HG=E-TS
[P.T.0.
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142. One Joule is equal to ergs.

e o — Jfes SErEHw.

) 10° @) 1® L/(g} 107 (4) 108
143, In the electro osmosis

Sl rlistesiand’

(1) Particles move but liquid rests
Epres Seisi 30 St Dot ol
./é]..iquidmwtpmﬁcles rest
s Stbest TR oo Dosr o
{3) Only particles move
Hrreo SrEto Sthects
{(4) Mone of the zhove

oBaito TvD
144, If 480 ml of 1.5 M solution and 520 ml of 1.2 M sclution is mixed, then molarity of the final
solution is
480 255, 1.5 M oo Sobcis 520 2o, of 1.2 M miesn SLSSpG & @rHns Duerdel
(1) 120 M (2) 1.50 M (3) 240 M @) 138 M

145. The relative lowering of vapour pressure is equal to the mole fraction of solute. This statement
is

erchosids oy, ThE Mpstetn of 08 rd PN BErENe. S A8 ———

A Dotios.
(1) Vant Hoff Law (2) Ostwalds Dilution Law
ol T Dokosas ey 085 Dobiain
v’fﬁ Roult's Law (4) None
oy DobEadae OB S,
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146. Which of the following is an emulsifier?
Bobreld® DB Jnobeo?
(1) Water (2) NaCl (3) Oil -./r.{]l’ Soap
5 NaCl Bosw wa

147, A catalyst increases the rate of reaction because it .
05 aifhmetio Soy s Dotated Jotnd ed

(1) Increases the activation emergy gf({_\lﬂmmﬂmﬁyhuﬁﬂrﬂamﬁun

Barrlor ¥4 botuiiocd Bopdsth, eSTEED ¥ Biiol
(3) Decreases the collision diamefer {(4) Increases the temperature coefficient
DS Tyt Bkl S35 IDeER Tototool
148. For one mole of gas the total kinetic energy is equal to
%5 2rd ool dloody, Boolinon Mde B ———— © s,
3 3 l
ﬁl’} 5 RT (2) RT @ 3T @ &5
149. Methyl orange indicator gives pink colour in the solution of
Eriesnd’ o3 aticd SrdE Lo Soil 08,
{1) NagCO3 (2) NeCl «(;;. HCl (4) KOH
150. A buffer soletion helps in controlling
e ol ooienn —————— i Dchofiotad’ Sonsc.
/(1) pH of a riedium (2) Alkcalinity of a solution
cxmiseNe g, pH Trietn dul, posen
{3) Aecidity of a solution (4) None of these
ety ik, et Fah s

Mote: The Information Provided here is only for Reference.It may wary the Original.



	Physics_001.pdf
	Physics_002.pdf
	Physics_003.pdf
	Physics_004.pdf
	Physics_005.pdf
	Physics_006.pdf
	Physics_007.pdf
	Physics_008.pdf
	Physics_009.pdf
	Physics_010.pdf
	Physics_011.pdf
	Physics_012.pdf
	Physics_013.pdf
	Physics_014.pdf
	Physics_015.pdf
	Physics_016.pdf
	Physics_017.pdf
	Physics_018.pdf
	Physics_019.pdf
	Physics_020.pdf
	Physics_021.pdf

